p.225

€y

2)

1
400 2 x
400 2 x
400 2 x
400 2 x
400 2 X
2
14,100 2
14,100 2

939

74

10

45

21

>< 586

< 47

/

2

2

1,000 400
1,000 30
1,000 4
1,000 20
1,000 8
1,000
1,000
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81

300

700



14,100

14,100

14,100

1) 1

92,400

2) 2

27,400

€y

7,750

2,910

2 > 13

2 x 61

2 x 15

2 %< 0.1

2 x 0.1

2 1

2 1

2 1

><2,400

>=<2,400

< TU>x 0.3

< TTr>< 0.3

,000

,000

,000

/ 3

/ 3

)?>=<21

)?><21

- 209 -

200

900

200

1,000

1,000

46,000

17,300

22,200

6,600

3

3



()

1

3,000m? 44
2
1 10,000m? 29
2 6,000m? 43
1 10,000m? 34
2 1,000m? 49

24

34,800 2 x<44 / 2 1,000 1,500

8,800 2 =29 / 2 1,000 300

8,300 2 >34 / 2 1,000 300

1,500 300 300 2,100

16,200 2 x<44 / 2 1,000 700

3,100 2 x<43 / 2 1,000 100
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400 2 x<49 / 2 1,000 20

700 100 20 820
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p.231 p.234

€y

/1000 *?

1.0

1.5

0.1

1.0

21

1
4,000 1,900 400 2 =+1000>=<1.0 8/1000 *? 6.3 3/
5,600 2 =+1000>=1.5 /1000 °* 8.4 3/
1,700 2 =+1000>=0.1 /1000 °* 0.2 3/
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8,300 2 =+1000>=1.0 8/1000 2 8.3 3/
6,300 900 900 300 ( ?)=1000%<1.0 /1000 * 8.4
1 +2
5,600 2,000 2 =+1000>=1.5 8/1000 * 11.4 3/
1 +2
1,700 700 2 =+1000>=0.1 $/1000 * 0.3 3/
1 +2
8,300 400 2 =+1000>=<1.0 #/1000 *? 8.7 ¥
1 +2
#/1000 *?

1.5

2.0

1.0

1.5

21

4,000 1,900 400 2 =+1000>=1.5 8/1000 *? 9.5 3/

- 213 -

¥/



5,600

1,700

8,300

6,300

5,600

1,700

8,300

2 =+1000>=2.0 8/1000 2
2 =1000>=1.0 /1000 °
2 =+1000>=1.5 /1000 °*

900
+2

2,000
+2

700
+2

400
+2

900 300 ( 2)=-1000%<1.5

2 =+1000>=<2.0

2 =+1000>=<1.0

2 =+1000>=1.5

/1000

/1000

/1000
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11.2

1.7

12.5

/1000

¥/

¥/

¥/

2

15.2

2.4

13.1

3/

¥/

3/

12.7

3/



()

21

/ /
0.208 100
0.007 100
0.006 100
0.020 10
0.169 550
0.054 380
21
2,800 ><0.208 kg/ =100 5.8 3/
2,800 ><0.007 kg/ =100 0.2 3/
2,800 ><0.006 kg/ =100 0.2 3/
2,800 ><0.020 kg/ = 10 5.6 3/
2,800 ><0.169 kg/ =550 0.9 3/
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2,800

2,800

2,800

2,800

2,800

2,800

2,800

2

800
+2

800
+2

800
+2

800
+2

800
+2

800
+2

><0.054 /

2

=380

0.9 0.4 1.3 3/

5.8 0.2 0.2 5.6

2 >0.208

2 >0.007

2 >0.006

2 >0.020

2 >0.169

2 >0.054

kg/ *

1.1 0.5 1.6 3/

7.5 0.3 0.2 7.2
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0.4

11.8

=100

=100

=100

=+ 10

=550

=380

15.2

3/

3

3/

¥/

¥/

¥/

¥/

¥/

¥/
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